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BACHELOR OF EDUCATION 

Term-End Examination 
00 June, 2017 LO.  

CD  ES-332: PSYCHOLOGY OF LEARNING AND 
DEVELOPMENT 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All four questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss the view of Piaget on Cognitive 
development of children. Discuss the educational 
implications of this theory. 

OR 
Explain behaviouristic view of learning. Critically 
discuss the relevance of behaviourist classroom 
practices. 

2. Answer the following questions in about 
600 words. 
What do you understand by interest ? Discuss 
the factors that influence children's interest in 
learning. As a teacher how you can facilitate 
learner to make better use of their interest for 
learning ? 

OR 
How can a teacher identify a gifted learner in 
class ? What are the special needs of gifted 
children ? How do these needs influence 
educational processes of these children ? 
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3. 	Answer any four of the following questions in 

about 150 words each : 

(a) Discuss the principles of child development. 

(b) Discuss the role of society in language 
development during childhood. 

(c) What are the educational implications of 
humanistic approach to learning ? 

(d) Describe the characteristics of learning. 

(e) What are the differences between cognitive 
and affective domain of learning ? 

(f) What are the characteristics of socially and 
culturally disadvantaged children ? 

	

4. 	Answer the following question in about 
600  words. 

It has been made mandatory for all public schools 
to enroll children belonging to economic weaker 
sections under the provision of Right to Education. 
What kinds of challenges these learners may face 
in schools ? Suggest some effective strategies that 
school should adopt for their appropriate 
inclusion. 
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